

### **ABC Bid Data**

TURNPIKE STATEWIDE STRIPING
44147

NON-FEDERAL

**PROJECT:** TURNPIKE STATEWIDE STRIPING

**STATE PROJECT NUMBER:** 44147

FED. PROJECT NUMBER: NON-FEDERAL

DATE BIDS OPEN: February 08, 2024,

SCOPE OF WORK: Statewide Striping

COMPLETION DATE: August 23, 2024

**LOCATION:** Rockingham, Merrimack, Strafford, Hillsborough

Awarded To: K5 CORPORATION

9 ROCKVIEW WAY ROCKLAND, MA 02370

Amount: \$649,149.80 C

Award Date:

Certified by: WILLIAM.J.OLDENBURG

Director of Project Development

## **Summary of Bidders**

Contractor	<b>Bid Amount</b>	Rank
K5 CORPORATION	\$649,149.80	Α
9 ROCKVIEW WAY, ROCKLAND MA 02370		
L & D SAFETY MARKINGS CORP	\$812,966.60	В
304 EAST MONTPELIER RD, BARRE VT 05641-8373		
ROADSAFE TRAFFIC SYSTEMS INC	\$861,954.00	С
55 Bodwell St., AVON MA 02322		



# **ABC Bid Data**

TURNPIKE STATEWIDE STRIPING
44147

**NON-FEDERAL** 

				F	PS&E	9 ROCK	RPORATION KVIEW WAY ND, MA 02370	304 EAST M	MARKINGS CORP IONTPELIER RD VT 05641-8373
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	45,000.00	\$1.00	\$45,000.00	\$1.00	\$45,000.00	\$1.00	\$45,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$90,000.00	\$90,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	6.00	\$2,500.00	\$15,000.00	\$2,000.00	\$12,000.00	\$3,000.00	\$18,000.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	153,250.00	\$0.13	\$19,922.50	\$0.12	\$18,390.00	\$0.19	\$29,117.50
632.01047	RETROREFLECTIVE PAINT PARKING LINE, 4"	LF	22,420.00	\$0.50	\$11,210.00	\$0.50	\$11,210.00	\$1.00	\$22,420.00
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	2,418,630.00	\$0.18	\$435,353.40	\$0.16	\$386,980.80	\$0.19	\$459,539.70
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	164,350.00	\$0.50	\$82,175.00	\$0.50	\$82,175.00	\$0.45	\$73,957.50
632.0118	RETROREFLECTIVE PAINT PAVE. MARKING, 18" LINE	LF	2,752.00	\$2.00	\$5,504.00	\$1.00	\$2,752.00	\$4.20	\$11,558.40
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	11,821.00	\$2.25	\$26,597.25	\$2.00	\$23,642.00	\$3.50	\$41,373.50
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
1010.15	FUEL ADJUSTMENT	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00

Totals:	\$692,762.15	\$649,149.80	\$812,966.60
Alt. Totals:			
Totals:	\$692,762.15	\$649,149.80	\$812,966.60



# **ABC Bid Data**

TURNPIKE STATEWIDE STRIPING
44147
NON-FEDERAL

				PS&E		ROADSAFE TRAFFIC SYSTEMS INC 55 Bodwell St. Avon, MA 02322			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	45,000.00	\$1.00	\$45,000.00	\$1.00	\$45,000.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$30,000.00	\$30,000.00	\$75,000.00	\$75,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$500.00	\$2,000.00	\$300.00	\$1,200.00	
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	6.00	\$2,500.00	\$15,000.00	\$7,500.00	\$45,000.00	
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	153,250.00	\$0.13	\$19,922.50	\$0.15	\$22,987.50	
632.01047	RETROREFLECTIVE PAINT PARKING LINE, 4"	LF	22,420.00	\$0.50	\$11,210.00	\$1.00	\$22,420.00	
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	2,418,630.00	\$0.18	\$435,353.40	\$0.20	\$483,726.00	
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	164,350.00	\$0.50	\$82,175.00	\$0.55	\$90,392.50	
632.0118	RETROREFLECTIVE PAINT PAVE. MARKING, 18" LINE	LF	2,752.00	\$2.00	\$5,504.00	\$3.25	\$8,944.00	
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	11,821.00	\$2.25	\$26,597.25	\$4.00	\$47,284.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	
1010.15	FUEL ADJUSTMENT	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	

Totals:	\$692,762.15	\$861,954.00	
Alt. Totals:			
Totals:	\$692,762.15	\$861,954.00	



# **PS&E Comparison**

TURNPIKE STATEWIDE STRIPING 44147 NON-FEDERAL

				A-Bide	der	PS8	<b>ξ</b> Ε	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	45,000.00	\$1.00	\$45,000.00	\$1.00	\$45,000.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$45,000.00	\$45,000.00	\$30,000.00	\$30,000.00	\$15,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$0.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	6.00	\$2,000.00	\$12,000.00	\$2,500.00	\$15,000.00	(\$3,000.00)
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	153,250.00	\$0.12	\$18,390.00	\$0.13	\$19,922.50	(\$1,532.50)
632.01047	RETROREFLECTIVE PAINT PARKING LINE, 4"	LF	22,420.00	\$0.50	\$11,210.00	\$0.50	\$11,210.00	\$0.00
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	2,418,630.00	\$0.16	\$386,980.80	\$0.18	\$435,353.40	(\$48,372.60)
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	164,350.00	\$0.50	\$82,175.00	\$0.50	\$82,175.00	\$0.00
632.0118	RETROREFLECTIVE PAINT PAVE. MARKING, 18" LINE	LF	2,752.00	\$1.00	\$2,752.00	\$2.00	\$5,504.00	(\$2,752.00)
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	11,821.00	\$2.00	\$23,642.00	\$2.25	\$26,597.25	(\$2,955.25)
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
		1						

**Total:** \$649,149.80 \$692,762.15 (\$43,612.35)